B H 2024/10/1

REX

/\»f/ \—‘/— XS150S

tBHH{ﬂﬁ*&iE

20094 1R

KEEICERRUE ALV RBITVET R UtEHAR IR A B &
DEEKRIZEYVBRFELAIREEILHYET FTOHI T EIZELY,
EEHOIHERIE. RFYDREXFEXMABHENELE TS,

INAI3—)—XS1508S
(FI—UNAATE)
[380150]




2024/10/1

B#H

380150 /\Af/\—Y— XS150S




380150 /\f/8—Y— XS150S EHE  2024/10/1
HE | HaES B & A& W | EERE W E
1 HPX01 [F¥J4A4¥a—F (1.25 X 2C X 2.5M) 1 3,060
2 HPX02 [a—F7—% 1 470
3 HPX03 [4vE>fl (M4 x 16 $55% %) 2 170
4 HPX04 [a—FHYUvF 1 170
5 HPX05 [4vE>fl (M4 x 20 $55% &) 5 170
6 HPX06 [4vE> 4l (M5 x 30 4%5% ) 4 170
7 HPX07 [/\oFIL (R) 1 1,790
8 HPX08 [/ KL (L) 1 1,790
9 HPX09 [RAvF 1 2,290
10 HPX10 (kA 1 520
11 HPX11 [4vE> Rl (M4 x 30 $55% ) 2 170
12 HPX12 [avbo—5a31=yk 1% | 20,330
13 HPX13 [h—RrRILE (7x11) 2 1,080
14 HPX14 [h—HR2T5 (7x11%17) 118 910
15 HPX15 |[h—RrFryT 2 520
16 R RL (M4X10XP0.7) 1 170
17 EES (4X10X1) 5 170
18 HPX18 [T ®xwhk (8x15%5) 1 1,260
19 HPX19 [RR—H (8x12x10.5) 1 470
20 HPX20 [/\HTo s 1 8,280
21 HPX21 [RF—% 1 10,820
22 HPX22 |IFhEEAHIvE L (M5 x 60) 2 170
23 HPX23 [J7 HAR 1 1,090
24 S373  [R7ULY (60822) 1 1,080
25 HPX25 [7Z=Fa7 (100v) 1 23,520
26 HPX26 [X7Y 4 (6001DU) 1 1,190
27 HPX27 [oyrs (p28%2) 1 200
28 HPX28 |[ARATAFTERILE (M5 x 30 +4BvAYY) 4 170
29 HPX29 [4vErHl (M5 x 40 455 &) 4 170
30 HPX30 [¥¥4—2X 1 11,440
32 HPX32 [=—KILAR7YL4 (TLA1015) 1 2,290
- S HPX33  23AM7yY+( ¢ 40x ¢ 60x1) ZSART Yk
33 HPX33 [RSAFTwI+wSET HPX34  ASAFAT 5 (20603) 148 4,330 FIPX33-HPX34
35 HPX35 [XALF+y (57T) 1 13,990
37 HPX37 |[A4FJ0vs 1 6,870
38 HPX38 [=—FiR7yYL5 (TAF71410) 1 2,690
40 HPX40 [hyTFUr 5599 1 8,280
41 HPX41 |ARATUTERILE (M5 x 12 +40vAYY) 2 170
42 WQo6  |fEk (¢6) 1 170
43 HPX43 [RTULY (08X p4.1%x p5.7%6T) 1 170
44 HPX44 [7w/8—H/8— 1 15,900
45 HPX45 |[H4FO—5 (p6x p12%10) 2 2,290
46 HPX46 |[A—S#h(52) (¢ 6x28) 1 1,160
47 HPX47 [Jzik/Svxs 1 570
48 HPX48 [v—IL/8vxy 1 570
49 M/hal (M3X10XP0.7) 2 170
50 HPX50 [R—JL/vF4l (MI0OXP1.5X ¢ 6) 1 2,810
51 HPX51 [V—%YJL—b 1 1,160
52 RANFERILE (M5X16XP0.8) 2 170
53 HPX53 |[REVEIL(TZoD¥) 1 12,080
54 381007 |V—RILE 1 — Rk
56 HPX56 |20 bh/N— (T LAH/N—) 1 4,070
57 ZB24 |[RAHEX/F (FEU4) 1 170
58 HPX58 [#ilET7vi v (Pp4x Pp11x1) 1 170
67 W752  |RARGEEHRLE (KIF#F M5 % 6) 2 170
60 NN HPX60 AFARA'71.4°(0816) R7PYLHEY h
61 HPX60 | A7) 7 SET HPX61  A'TUYT T9v%(d 8x ¢ 16x1) X2 148 2,020 HPX60 - 61
62 WG05 |IEHES (5) 11 170
63 HPX63 [R/S+HILE 1 490
68 TS (5X12X1) 1 170
65 HPX65 |[A—S#(R) (¢ 6x33) 1 1,240
66 W742  |RATFELEHRL (KIFH %k M4 % 6) 2 170
59 HPX70 [Fz—r/4z2—= 1zt | 43,200
59-1 | HPX71 [/"AZA&K{K 1 9,540
59-2 | HPX72 [Hn{t#h (M14XP 2.0) 1 8,280
59-3 | HPX73 |f#ftL/\— 1 4,070
59-4 | WL4L [RTULTEL (4% 10) 1 170
59-5 | HPX75 [#Y4al (M14XP 2.0) 1 7,370
59-6 | HPX76 |Fz— hILETSH vk 1 1,530
59-7 HP89 |=—FK/LEY (D5 % 19.8) 1 240
59-8 | HPX78 |[T4RHVRE—R 2 270
59-9 | HPX79 |[Fz—V 1 12,460
64 HPX81 [FxUrJ7—R 1 9,920




